Algebra II Summer Packet Part I

Name:

1. The expression 23 - 42 is equivalent to

A 27 B. 212 Cc. & D. §°

2. Which expression is equivalent to (3x%) ?

A 9 B. 9x° C. 27X D. 27x°

) 10w3 ) g
3. The expression

is equivalent to

A 2w B. 2w® C. 20w’ D. 20wt

4. The sum of V12 and 53 is

A. 103 B. 76 C. 7v3 D. 360

5. Which is equivalent to 4v/3?

A. 144 B. V48 C. V19 D. V16
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The expression 5v/3 — V27 is equivalent to

A. 8/3 B. -8/3 C. -2v/3 D.

6

6x3

The quotient of is equal to

A. =38 B. =3x2 C. -12* D.

The product of 3x%y* and —4x’y* is

A, =Txy’ B. —xy’
C. —12x%y’ D. —12x5y12
3,5
The quotient is equivalent to
xy?

A, 4x%y? B. 4xy’
C. 12x%3 D. 12x%3

23

—12x3



14. What is the value of x in the equation

oy 1 .
10. The expression PR equivalent to 2x—3)+1=19?

A 2y —x B. x—2y A. 6 B. 105 C. 9 D. 12
2x 2x
1-y y—1

C. D.
2x x—2

15. What is the value of x in the equation

11.  What is the least common denominator of % %C 2= =42x+ 1?
and %?
A =2 B. 2 c. -4 D. %
A, 9x B. 2x C. 14x D. 14x°
2 2 . . .
12. What is the sum of and ——9 16. \3Nhat is t5he value of x in the equation
x— x=2 FX+2=3x-67
P g A. -6 B. 16 C -4 D 4
(x —2)? x=2
4 2 2
c. — p. &
(x—2)? x—=2
17. If dx — 2 = h, then x is equal to
13.  In the equation 0.03x — 0.1 = 2.6, what is the value
of x? 2 h-2 h+2 h
A. h+- B. C. D. —-+2
d d d d
A 9 B. 90 C. 120 D. 130
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18. What is the solution for the following system of 19. What is the value of y in the following system of

equations? equations?

2x+y=7 2x+3y=6

x—2y=6 2x+y=-2
A. 3D B. (1,3) A1 B. 2 C. 3 D. 4
C. (-1,% D. 4, -1)

20. Which is a solution for the following system of

equations?

y=x

y=-2x+15
A, (-3,9) B. (5,25
C. 3,9 D. (-5,3)
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